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音声ファイルの０：００－１：１５を聴きなさい。 

 
ＳＴＡＧＥ １ 
左の語句１～１６が出てくるのが聴き取れたら、その番号を丸で囲み、そしてその意味を右のａ

～ｐの中から選びなさい。 
1. global warming (    ) 2. come into effect (    ) a. 約束する b. 放出 
3. reduce (    )  4. greenhouse gas (    ) c. 達成する d. 発効する 
5. emission (    )  6. concern (    )  e. 主導する f. 削減する 
7. accord (    )  8. achieve (    )  g. 調印国 h. 温室効果ガス 
9. target (    )   10. negotiate (    )  i. 協議する j. 地球温暖化 
11. pact (    )   12. goal (    )   k. 止める l. 懸念 
13. lead (    )   14. halt (    )   m. 目標 n. 目標 
15. signatory (    )  16. pledge (    )  o. 協定  p. 協定 
 
ＳＴＡＧＥ ２ 
ニュースの要旨を完成させなさい。 

地球温暖化の京都議定書が発効した。しかしこれには（      ）の協力が得られておらず、

日本も目標を達成（            ）。小泉首相は演説で、日本は地球温暖化防止を

（         ）と言った。日本の温暖化ガスの排出は、１９９０年以来（      ）

パーセント（            ）。日本は将来、排出量の大幅な削減を強いられるおそ

れがある。 

 
ＳＴＡＧＥ Ｘ （余力のある人のボーナス） 
音声ファイルを最後まで聴いて、下の空欄を埋めなさい。 

京都議定書の目標を（            ）国は、目標を上回る削減量を達成した国と排

出量の取引をすることができる。また、日本は（         ）での排出量削減プロジェ

クトへの出資を検討しており、それによって（      ）での削減量を減らしてよいことに

なる。環境保護運動家たちはこうしたやり方に（            ）。また専門家の中

には、（      ）が参加おらず、しかも発展途上国に対して（            ）

以上、議定書の効果にはそもそも疑問があると考える者もいる。アメリカのブッシュ政権は、議

定書は（         ）に悪影響を与えるし、発展途上国に同じ目標を設定しないのは誤

りだと主張して、参加を拒絶している。日本はアメリカの参加を（         ）。 



ＳＴＡＧＥ ３ 
空欄を埋めなさい。 

The Kyoto Protocol on global warming has come into effect (            ) (            ) of 

delays.  But the landmark agreement to reduce greenhouse gas emissions lacks 

(            ) (            ) of the United States and there is concern that the accord 

(            ) (            ) achieve its targets in Japan. 

Ceremonies to mark the Kyoto Protocol (            ) (            ) in the former 

Japanese capital where the agreement was negotiated in 1997.  Japanese (            ) 

(            ) Junichiro Koizumi, speaking from Tokyo via a videophone, said the landmark 

pact (            ) (            ) a positive impact on future generations if it can achieve 

its goals. 

Mr. Koizumi says Japan will lead the drive to halt global warming. 

Despite hopes the protocol will help clean the air, there is concern that some 

signatories, including Japan, will not be able to cut gas emissions to pledged levels. 

Japan has increased its greenhouse emissions by eight percent since 1990 

(            ) (            ) means it now faces a cut of 14 percent against 1990 levels to 

achieve (            ) (            ) under the agreement.  If Japan fails to meet its 

reduction goal (            ) (            ) it will be forced to cut emissions by an 

additional 30 percent (            ) (            ) Kyoto pact's second stage, starting in 

2013. 

 
ＳＴＡＧＥ ４ 
上の下線部分を訳しなさい。 
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